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JAIL WARDERS ~ SET-B

AP POLICE bOARD

Held on 26-08-2012

Who is the present president of France?

(A) Francois Mitterrand (B) Nicolas Sarkozy
(C) Francois Hollande (D) Jacques Chirac
BPQ B BB SEHHBHD?
(A) groB%and Qogoe0b (B) 28% 06%8
() 8ro8%0awh %ok (D) en§ o -
: . 3 S s ars e LS
$if S2Ef ® Y VLIV IS
Sz o Maufp o ©
Who is the present president of Russia? :
(A) Boris Yeltsin (B) Vladimir Putin
(C) Dmitry Medvedev (D) Mikhail Myasnikovich
Bap, BIRD) DB OFLHRBEDT
(A) =00 205 (B)  sR0@08 85
(C) &8 58S (D) o8BS EPmOS
' -ufu:())/::ﬁ;"égfu
Lyds B SR ()
Exr L D) sxird 5 (©)
Who is the present Chief Minister of Karnataka?
(A) Yeddyurappa (B) Sadananda Gowda
(C) Kumaraswamy (D) Jagadish Shettar
E03b0% Ovg) HNB EOPFV0H DBDH?
(A) DBRLS (B) ®wedos 3%
(C) Boamsdegn - (D) 20H% 2ayd
?ujuff"%;:ﬁfﬁjt/w&/
e ®) L A
SRl (D) Siril (©
When is the world population day?
(A) 8lJuly (B) 9July (C) 10 July (D) 11 July
DHDHOS BaRyR OSTBHO DD BOYTUDL?
(A) =88 (B) @89 (C) =310 (D) @811
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India’s first talking ATM for visually impaired was established at

(A) Mumbai (B) Ahmedabad (C) Hyderabad (D) Bengaluru
BB SR Eeend ATM (@090 8965) %5 Honko Savaod?
(A) swod (B) ospmwerd (C) psoeend (D) Botfeedd

Y6 4o ATMUD L S e D) H e P04
A oD . AT ©  ATa ® & W
Which committee was constituted for the integration of Aur India and Indian Airlines?

(A) Dharmadhikari committee (B) Chellia commitiee
(C) Chakravarti committee - (D) Narasimham committee

ook 08057, 20&ADHS o‘)omS;@_rg:ﬁ) Bomiso 5855 S}Q;o)ew Bonoés 58 007

(A) S Bee0 &8 (B) Bwox, £8083
(C) 5558 5508 (D) - #6080 503
' v%jﬁj‘:{lﬂ[f’s‘Q_Lruﬂr‘{:ﬁu‘/lu‘(ﬁmlg.‘m{l
Fua @ F ks W
KAy o Fink ©
The New Pension Scheme in India came in to operation with effect from
(A) 1+ April 2004 (B) 1% January 2003
(C) 1**January 2004 (D) 1* April 2003
APEBEIOSS B DS DRB0 D F0s BHGS ST
(A) D1, 2004 (B) =d%o 1, 2003
(C) &350 1, 2004 (D) 21,2003
?é’éuu*’,,:;a._,/(:"lcf";‘ﬁdu'?m
200380574 (B) woaf o1 A
2003 41 F O woas 2 E (©

Which of the following stands for °S” in ‘BRICS’ countries?

(A) SouthKorea (B) South Africa (C) Spain (D) Saudi Arabia
52808 6 B B0 ‘BRICS’ Baseh ‘S D amd00?
(A) 8 Sp0in (B) & g (C) Rond (D) &8 wdBos»

Cot S5t S s s HW BRICS

JrG @ 1 © 2148 @ LIGE A
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Which High Court has quashed 4.5% sub-quota for minorities out of 27% of OBC
reservations? |

(A) Delhi (B) Bombay
(C) Andhra Pradesh ‘ (D) Ahmedabad
QB8 3oBabs Hero 27% oaéé;.ﬁz(gesﬁ oo 4.5% 6% & 38t 615 w087
(A) 88 (B) wod
(C) wognds (D) eosnmerd
o f ki e By ST 35BE 65 (e e LA NE 265 5 G
& ® do @
Az (D) FagpiT (O

Who is the United Nations Present Secretary General?
(A) Ban Ki Moon (B) Kofi Annan
(C) Boutros Boutros - Ghali (D) Javier Perez de Cuellar

D00 HD08 DB DELS BBES DS 7

(A) e»S8:mS (B) &% e5s
(C) aniR anidd 2O (D) Zpand H3F &Enob
B OSSEF U pmzr Lo 13
ol ®) ord @
):{524,{:? D) LW&//HJ)! ©
Who won the Yudhavir award for the year 20127
(A) Manmohan Singh ' (B) Sham Benegal
(C) UR. Rao (D) Shanta Sinha
2012 HOSEIY 0PoFHE et i DB ?
(A) Do RS bob (B) we0&568
(C) U R oo (D) @e0me 1R
¢ Ui S 201200 Sk
St (B Fou#  ®
ek D) 5,74 (C)
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12) Who is the present chairman of Telecom Regulatory Auihority of India (TRAI)?

(A) Rahul Khullar (B) J.S. Sarma

(C) AXK. Saney (D) Nripendra Misra

8050 Bt0,B06 ogeod 6B RoG0xm (Ep0) G308, TS BLSEHE BT

(A) oosrod guerd (B) 1.S. 4,

(€) AK. 28 (D) o oge |

St et gerar & (TRADEST (008 2 A o6
s @ Ll (© Vil @ s @)
13) Who won IPL Cricket Title in 20127

(A) Chennai Superkings (B) Kolkata Knight Riders

(C) Delhi Daredevils (D) Mumbai Indians

... 3365 G630 2012 H0HBEOS® HHH BOTD 7

(A) 3376 8o (B) 8555 36530,

(C) &HaE6aag (D) Smomaw RodkoHa
- ¢ Gad U b K20122 /TPL

Arg © Foads © wneasy  ® e
14) Who won the Wimbledon Open Championship in Gentlemen’s singles in 20127

(A) Andy Murray (B) Jonathan Marray
(C) Roger Federar (D) Frederik Nielson
oINS HHS ROHODNSHD PP HoBE 2012 DEFS DHET
(A) @od& 513 ' (B) &St 508
(C) 658 3565 (D) &8 dSHS
Sld ¥ 01 TS st
JES L) (D) S VIR (o)) ool G (B) k(A

15) Which country won European football Championship 20127

(A) ltaly (B) Germany (C) France (D) Spain
AHTPEIDODS §)e5eReS t0DONSHD 2012 HEFS DD T
(A) =wd (B) a5d C) &S (D) o0&

¢ Ut b B 62012 Ty
SO S Fz2o® @)
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9)  Which High Court has quashed 4.5% sub-quota for minorities out of 27% of OBC

reservations?
(A) Delhi (B) Bombay
(C) Andhra Pradesh ‘ (D) Ahmedabad
VG SroBads Hee 27% oaaff;q;gesﬁ Boweotle 4.5% &85 & g8t 6t W07
(A) 38 (B) enofs
(C) eoppas (D) omumend
St ] bl ey I 45%L 265 S e S AL 65 5 ot
Foo® do @A)
AT2t (D) gl pET(©

10) Who is the United Nations Present Secretary General?

(A) Ban Ki Moon (B) Kofi Annan
(C) Boutros Boutros - Ghali ' (D) Javier Perez de Cuellar
DY HD0B TR0B DBS @SS DBt ?
(A) 2»S 8 Sund (B) &% exd
(C) 2ntd entd HRO (D) @Dows 30F &8n00
IS EF IRy Coi (17
o bl ®) grd A
JESrse D) S AUA ©
11)  Who won the Yudhavir award for the year 20127
- (A) Manmohan Singh ' (B) Sham Benegal
(C) UR. Rao (D) Shanta Sinha
2012 HOBBESLY 0P0GHE Ot FiRs W57
(A) &0& 508 2ob (B) @o0@3t58
(CT™. R, 5 : (D) @eome e,

¢ Sl S 2012 sk
Jfere (B Fg# A
CE (D) 5,74 (©)
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16) Who is the present Director of the Institute of Banking Personnel Selection (IBPS)?

(A) Amar Pradhan - (B) A.S. Bhattacharya
(C) Umesh Kumar (D) A.K.Misra
2080HS erodol DS vegS (IBPS) $ros 3856 dsth?

(A) o6 Hed (B) AS. ghpeed;
(C) 638 HEnb - (D) AK. &oge

¢ u_:u/;”}riuzrL(IBPS)Jg’JQuﬁéJTMEJ"!
ol @ MIE (© eklarieed @) Wiyt (A)

17) Who is the present Chief Election Commissioner of India?
(A) S.Y.Quraishi (B) H.SBrahma (C) V.S.Sampath (D) Vinod Zutshi

EREBBER) SN DD DQBO BHBE DBH?
(A) S.Y. g5 (B) H.S. wir, (C) VS. %008 (D) a5°b 8
¢ gpod A sy Ltk
Frdy @ el © Bl ® &Eidvd @
18) Who is India’s Present Attorney General?
(A) GE. Vahanvati (B) Soli Sorabjee (C) K. Parasaran (D) Ashok Desai

RSB DB Berd aTTE DBDHT

(A) GE.owawdse (B) 80 &0ed) (C) K o058 (D) e8% Bavom
curof 2t zy Ly

Jind® @ bl (© Geirdr B GHpSE @)

19) Who is the present Chairman and Managing Director of Singareni Collieries

Company Limited? c
(A) S. Narasinga Rao (B) T. Viyjay Kumar
(C) B.N. Raman (D) Sutirtha Bhattacharya
20638 50080 Hovd DBE HS FU,S Hooa Fijeod F3EE HHW?
(A) S. Sposeed) (B) T. da0b 5&Emd
(C) B.N. ;edod (D) o8y ghepwrd;
fafvon 1 % J.A/‘de T
S Ugrr /Uﬁx:@-dwﬁ)‘ﬁ Ve {A/L,ﬂ/ﬁ*
Mesd o @) S (A

L7y (D) Jag-d (€
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20) Who is the present Managing Director of APSRTC?

(A) D. Prasada Rao (B) AK.Khan

(C) M. Satyanarayana Rao (D) B. Venkateswarlu
APSRTC g8 #3205 @856 05807

(A) D. gdrtsoem (B) AK. 2»&

(C) M. d8aroeobn ooy (D) B. 308845

¢ %U[%jb’ﬁuﬁf&ﬁ&;f&légl
Jju'é‘j’g'i-.(,} (D) S (© YL (B) sy $i (A)

21) Who is the present Chief of Indian Army?

(A) General VK. Singh (B) General Deepak Kapoor
(C) General Bikram Singh (D) General Nirmal Chander
QRE POBSY DB DOSDSD DB ?

(A) 2508 8.8. 208 (B) 2568 &6 85pb

(C) 2588 280 dob (D) a6 o5, <Ssotsd

S oSSy sST Uy
wedidz o) Frilz ©  Hkdzr @ F.Lsdr @)

22) ‘Poriborton’ book describes which Chief Minister’s success in Assembly Elections?

(A) Narendra Modi (B) Jayalalita
(C) Akhilesh Yadav (D) Mamata Banerjee
‘Do2ES’ OF DYBO O BPF0F A0, @V0P HYSe DAY a)o‘oon:ao&?
(A) 8o ané (B) =0heds
(C) ohBdx afeisd (D) sosome 358
?-’-'-u'/rJngb/quLlf IJ"fé /"._.g_«?,.JKJ'_JU/JL "Poriborton”
91> (D) 2l (© el (B) Saroxrs (A
23) Who is the present Chairman of Andhra Pradesh State Hindi Academy?

(A) Yarlagadda Lakshmi Prasad (B) Satyanarayana

(C) Venkata Ramana Rao (D) Mohan Singh

BOLHDS o5 808 BT BLSENE DBHE?

(A) omgsg of HR6 (B) ®8meoe0Hen

(C) 3o Bsoem o) (D) mend 206

¢ ol et gozr LGNSt piT
Fgir D) i bes (O) Ets @ gL @)
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24) Who is the present Chief Secretary of Andhra Pradesh?

(A) Pankaj Dwivedi (B) S.V.Prasad

(C) Minnie Mathew (D) Mohan Kanda

SOGHBE 05 BRB DS S50, ST

(A) Do5E S0 (B) S.V. 56

(C)  aog sy ' (D) awsnd Sowe

| ¢ UEUJ/LS/’?./C'%M?J’LﬂJ{!/’IT&’LJ
I (D) !.’;f(.f © J"i/{_dj-&f (B) d..g_fJg' (A)
25) When is the World Blood Donor Day? '

(A) 14 June (B) 12 June (C) 16 June (D) 18 June

HHOT BERS ODTBEHO DK BEYTD?

(A) ond 14 (B) anrd 12 (C) =nd 16 (D) end 18

Cetlll Susbrpr pU19 gt
Ur18 (D) Yrle () U212 (BY ¢ald (A
26) What is the Capital of Canada?

(A) Wellington (B) Ottawa (C) Santiago (D) Bogota
B0 Bf Do DO '
(A) 3Dogd (B) etpan (C) o3ttt (D) &P6%m
A Ce Uikt
ey o SBEe© ol ® AN @)
27) What is the smallest country in the world?
(A) Tuvalu (B) Monaco (C) San Marino (D) Vatican City
$505080 88 OF B¥0 IO?
(A) Smmen (B) Bwwest (C) >»Ssm08 (D) woe38S e

¢ cé.lif.—ﬁh{;g??)
FEh @ mlue © Sy ® M (@A)

28) What is the largest country of the world in area?

(A) United States of America (B) Cluna
(C) Canada (D) Russia
DYFod HrososBes ©B08 B o HOT

(A) oPBE el 8D BB (B) B3>
(C) 3Bswe (D) oap,

3 q_vuf_ﬂfkcg“?y::..zﬁlﬁ..};

U3 (D) = (© g B Lonapidt @)
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29) Who is the first woman Governer in [ndia?

(A) Sarojim Nadw (By Sucheta Krupakant
(C)y Vijmyalakshnm Pandit (D) Durgabhai Deshmukls
erUBE o FnigFantie s Al JBE?

(A)y w6%d oo (B) codee gaeed

(Cy omabeg, Sokd : (D) ooemon BSsnd

‘ ¢ i fuTe B Sy i
ﬁ:&l{f}y Dy bz:;ﬁ».:?-s- (C) dL};ﬁz‘w (B) ijt'{:ﬁ:f &)

30) Which of the fotlowing is the world’s fongest rrver?

(A) Amazon (B) Nile (C) Volga (D) Mississipi
HB0codiEen a08 JEPS SO DO? :
(A) edesd (B) Beoder (C) SFep (D) &2

?'.:‘;Lfclfr‘t:uruﬁla_ng,
FE @ W © F e uxl W

31) Which sea port is knov?n as “Queen of the Arabian Sea”?

(A) Mumbal (B) Goa (C) Cochm (D) Kandla
“oBpa GEng ool o & s SogrR) HenH?
(Ay Evomom (B) &%m (€) &8s (D) mow

v e tbtefebi s et d G s A
o & o e Fow
32) Which poet is known as “Andhra Shelley”?

(A) SriSnm (B) Jandhyala Papatah Sastry

(C) Devulapallt Krishna Sastri (D) Chalam

“wognd” o HEI00D ED IBDH?

(A) &8 (B) =ogRe &RH00; 9]

C) Bpend G559 Dj <Seoc

(C) Do 59Ty | ( ,?_?Wﬂe}(fﬁu/&rtﬁ “ & ppl”

Yo @) SFeeSbin  © (FtWden @) PR

33) When is police commemoration day ts observed?

(A) 18, October  (B) 21, October (T 23, October (D) 24, Octcber

5550 wHsdHHe HoRde HH0 DD, euiEeD T

(A) w8fab18 (B) o8%B21 (C) o556 23 (D) 8ab 24

¢ e bl Ui

S @ 1B © S @ s @)
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34) When was Indian National Congress formed?

gRi8 epdab 5080 & HoHBHoS aga)oaa:&oea?

(A) 1872 (B) 1881

35) Who founded Reddy Dynasty?
(A) Ana Pota Reddy

(C) Ana Vema Reddy

3& ooeg %géé)éﬁ) DB ?

(A) o 8834

(C) o 35038

StAodlfiy @ it ©

36) Who founded Vijayanagara Empire?
(A) Harihara and Bukka Raya

(C) Virupaksha Raya

DBOHHHL ez, e@gé&‘ow ST
(A) ErOERY, B oeaben

(C) pBmeg ceoHen

iy (D) L,f,lp“‘g,_/, (C)
37)
(A) Vavilala Gopala Krishnayya

(C) Tanguturi Prakasam

itatgsls / S Ve
Who formed a volunteer group called “Ramadandu™?

0Tt S OvR A o

- (C) 1885 (D) 1892

(B) Prolaya Vema Reddy
(D) Peda Komati Vema Reddy

(B) @foad J5m0G
(D) 35850e3 S57088

of il sbdds
Sl  (B) Stosbgtl (A

(B) Sri Krishna Deva Raya
(D) Rama Raya

(B) é%@éémo‘_ﬁw
(D) owdoomobed ¢ g fo
(B) Ll.}(ﬁ{)ﬂlﬁ.dﬁ (A)

(B) N.G. Ranga
(D) Duggirala Gopala Krishnaiah

‘CaB0S0G” B3 KsH0t B8 Dok BROD ST

(A) moere HiaroBH0D,
(C) &otheand Hsd0

”'Lﬁ/U__i;fUI/d‘u' (D) (ﬁV{dJ?:ﬁ“ ©

(B) N.G dore
(D) doee HpoEROD,
?_f,:d‘_(/((l:l(“:i'ﬂ.lz”:(..;.d/fébgu.r
GGt @) BAIIEn @)

38) Who wrote the poem “Cheyyetti Jai Kottu Telugoda™?

(A) Viswanatha Satyanarayana
(C) Vemulapalli Srikrishna

(B) Sankarambadi Sundara Chari
(D) Dasharadhi

“ B B 5oy BenHiee” o HEg SHODOBH?

(A) DIFre DB meoe0le
(C) Sswend 883

gl (D) B[U’/{,{_UKJ

(B) dogtoend dootSortrd

(D) oty ?Jﬁa;uflﬂ ‘L gE

(©) Srblii-iel  (B) Bl APy (A)
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39) Who was the last Nizam to rule Hyderabad?

(A) Mir Osman Ali Khan (B) Mir Mahaboob Ali Khan
(C) Salarjung (D) Mubarak Ud doula
g50%230¢50R) HDOIRHODD DO VR0 DBHT?

(A) 808 &r,S ©d grd (B) 406 sosreameS 9d grd
(C) doenbaoh | (D) swenss biPer

- *‘vufuf/"dfmu,p\_/ﬁ(w
HaSy @ L © wbFefe ®  UbfuPz @

40) Who founded Andhra Mahila Sabha?

(A) Anibicent (B) Sarojini Naidu
(C) Lakshmibayamma (D) Durgabai Deshmukh
‘SOl D8F 'R DD RpRODH?
(A) @06 (B) 6% meaotd
(C) o, emaday, _ (D) ropearon D50
“u*ufdt/_’.trwl/» r
A0 ) uu‘to‘“(f (©) L . (B) il (A)
41) Which Portuguese traveller visited during Sri Krishna Deva Raya’s rule?
(A) Nikitin (B) Domingo Paes
(C) Jerome Xavier (D) Marco Polo
& 55 5000 590088 HEBoDH B IPGHD SBLH?
(A) 2888 (B) &0085 5%
(C) 2655 Spand ' (D) sn6528e8
?Q_fuuLb}.—dﬁ'{Ju:wﬁ;;:é:i.t:rg;lﬁ/d/
PTT ST ) 24vz (€ s (B) £
42) Poona Safvajanik Sabha was founded by
(A) Gopalakrishna Gokhale | (B) Balagangadhara Tilak
(C) M.G Ranade (D) B.R. Ambedkar
PR FPOBOS DR DO DOBHD? |
(A) 6%pogg 6528 (B) emotiomntss 808
(C) M.G ssa (D) B.R. ®0858
el ol S oty
Ko @) Ei’l:ifﬂkf (A)
/ér."'f-zf_.d (D) Y PG S e
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43) Who came to be known as the “Grand Old man of India™? SET - B
(A) Mahatma Gandhi (B) Rabindranath Tagore
- (C) Gopala Krishna Gokhale (D) Dadabhai Naorojt
“good EFAS 85 20BN HH beBRTE?
(A) ossme, mod (B) 6dHoisard ootinb
(C) 65pogm Hed : (D) oewearon °6%3

’ | tetble td LaSTel uh S
Esfdunn, @ &S o KAues @ Sie @)
44) The first great experiment in ‘Satyagraha’ came in 1917 in

(A) Sabarmati (B) Champaran (C) Bardoli (D) Kheda

1917 H05BE0S Dmatfareiind® H06563 HO3RHn HHE 308007

(A) 200 (B) <So@RES (C) engf® (D) Fo
ROy S S A S Ry 1TV Y
D e © wM ® S @
45) Who of the following was elected speaker of the Central Legislative Assembly in 19257

(A) Vithalbhai Patel (B) MR. Jayakar

(C) Vallabhabhai Patel (D) N.C. Kelkar

8o8e0e? go@of) T WD 19258 F()oa’)é‘%dmeﬁ”s 5:9)55(76 QS S0 TROKD 7
(A) D8Sercn HES (B) MR 20056

(C) seeeron HES (D) N.C.Beb

| - e nFe e L1055 Ly Is S pud B it
AL gy (D) Fduds  © STl (B) Sdufs @
46) Who authored the book *“Chivaraku Migiledi”?

(A) Chalam (B) Rawi Sastry (C) BuchiBabu (D) S Sn
" DBEE LBTQ” BF HHOD VDD FTADT
(A) oo (B) o8 @) (C) aoQema0 (D) &8

e LS g
Urdyr @ HE2 © Sl ®  fbo@
47) Who wrote “Yenki Paatalu”?

(A} Arudra (B} Nanduri Subba Rao
(C) Atreya (D) Krishna Sastri
D08 arbe B500B OHEH T
(A) &g (B) Sotimd dwexpoes)
(C) wBon | (D) &Kol
e Wl ey
SFeES ) T (© WS’ (B) |5l (A)

13
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48) Who wrote “Parijatapaharanam™?

(A) Nandi Timmana , (B) Allasani Peddana
(C) Pingali Surana (D) Tenali Rama Krishna
 ROREHIRERO’ D FDODOBSE ? |
(A) &o& &5 . (B) ogd0 ¢S
(C) orss i : (D) B0 oosigptsd
: ¢ VUL_U/“I}IJ‘Qt'g{”
gLl D) trdd  (© bacdbtl  (B) B5E (A)

49) Who authored the book “Vijayaniki Fidu Metlu®?
(A) Malladi Venkata Krishna Murti ~ (B) B.V.Pattabhi Ram

(C) A.GKrishna Murthy (D) Yandamuri Veerendranath
‘DBODS D kY’ D FOHODIO ISDHT .

(A) et Sost gjre (B) 29500

(C) oegRsomy - (D) opotssne HToLed

| Spuf i & 2T ks
Sty (D) J;r&:‘f.&-u (C) (Jg(fl’;-d:-(} (B) J/rté/uﬂ,diu (A)
50) “Hind Swaraj” is written by

(A) Vivekananda (B) Mahatma Gandhi

(C) Bankim Chandra Chatterjee (D) Sarvepalli Radha Krishnan

“3R0tiR,0e8 T (SOt BTS00 DHE?

(A) O3sH0tHed (B) sosse, 0

(C) @odowsoy e : (D) 9359 ooy

- _ : Ll:é}r“fy!ﬂrﬁf"
f/m&‘_,/ ) d.;g;;;(’;' (©) SL8iy (B Legds (A)
51) Who authored the play “kanyasulkam™?

(A) Gurajada Appa Rao (B) Rayaprole Subba Rao

(C) Kandukuri Veereshalingam (D) Tripuraneni Gopichand

"By H0,0° TRHE Bo0s DB ? '

(A) 08 waRoes) (B) oech@ben doempoed)

(C) Botogre HIFotso (D) 88D 65508

TUEU}(J_.UJ‘_CJL “(U/E"(“
ERYAOTYINN (’gl‘a_/,g,f,;f © g, ® et (@)

52) Jammu and Kashmir constitution came into force in which year?
aER,58,5 00,050 & VoBHBB0 S08 BIYS HYoB?

w?g’gu‘)’fudua”u;uw,f’muﬂ
(A) 1950 (B) 1951 (C) 1956 (D) 1957

14
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53) Which President of India got elected Unanimously? S ET -B

{A) Fakhmddm Al Ahmed {B) Shankar Dayal Sharma

{C) Neclam Sanjiva Reddy {D) Zai Smgh

D58 BHowe «ﬁéﬁéom DRYE00H :mg‘u’)an)éﬁs'?

{A) 5505 od sinbd B) Fo85 5o I,

(©) Boosodstg ®) 85608
| _ T.i.‘c’.":-a::;‘.'{/i ;"i‘-";,.a;::'f.iﬂc..u-f
VB @) | nFgai @

Foi o SiaEE  ©

/hich constitutional Article abolishes untouchability?

D ooER, 08 BREGH BOLCRIBTY DUGROOT
?kﬁ_frﬁji,ﬂ)b/é 3 Pl ie:h:»l{

(A) 15 B ©) 16 (D) 18

55) Who is the first speaker of Lok Sabha?

{A) Sucheta Krupalani (B) Sarvepalli Radha Krishnan
{C) Ganesh Vasudev Mavalankar (D) Lal Bahadur Sastri
675085 TokEnsed DEE D7
(A) DodsgHemd (B) 93558 oppER®
{C) 55 oesnid dFwrosd D) o wEpEnt 27
*‘ﬁ_ufjgé'i% LSy
Flodes, @ dllr W
S7Eai @ B ©

56) In which year, Voter Identity Cards were introduced first time in India?
RBBLH0E St HYO) é&g@?ﬁ) Boky Botsey & HoBBBOS HBERED ?
WYk N e KT E L L
(A) 1993 (B) 1994 (C) 1995 (D) 1996
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57) The words “Satyameva Jayate” inscribed below the National Emblem, are taken from

(A) Puranas (B) Jataka
(C) Mahabharata (D) Mundaka Upanishad
oD D50 Bots & ‘VEFBSHALE’ ©F DO DB 0B VOFHROT.?.
(A) SHoeemen (B) epsisoen
(C) sossserntss | (D) swomss 45055
: tesAleul bl BVLE LuByd
ke, By Jiyg (A
S wgle (D) =l (O

58) Fundamental Duties were introduced in the constitution by the

(A) 40" Amendment - (B) 41* Amendment

(C) 43 Amendment (D) 42" Amendment

OGS CoER0E5 VBT TR00 IS DEIVD TR0t HIFDiE0 BOBOD?

(A) 405 HS5Bes . (B) 418 dates

(C) 435 o6 (D) 425 5550

?Q?JJJJ&:‘U:J)J’J};")JJI)JJ?
~ousal  (B) FIUsa0 (A)
a2 (D) Fr8 (©
59) The normal term of Governer’s office is

(A) 2Zyears

(B) 5years

(C) 6years

(D) dependent on the tenure of the state legislators
Do 5556 308, HE5LSPW0 OB ?

(A) 2 Dosgoeen

(B) 5 Dossoeen

(C) 6 Dosyoeen

(D) ooy TR DENH® DSDSO0D BEREDHE GOLOOA).

?‘Lgﬁ)_@d)}"tf}.’)é:/'u”
Jv5 (B JL2 (A
e e SEITL O Juvs ©
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60) Which of the following states has no legislative council? SET - B
(A) Maharashtra (B) Kamataka
(C) Tamilnadu (D) Uttar Pradesh
8ot e3¢ & O B0 $0t9 Feo ?
(A) ooy | (B) st
(C) sodeto ' (D) ééda&‘s_
. oc.dwg))}(.f[/(_}:‘l’ JMLJJKJJJZ/JJ
LS B | L Ful (A)
Jragit (D) ke (©)

61) Which of the following is not a Union Territory?

(A) Mizoram (B) Pondicherry
(C) Chandigarh (D) Daman and Diu
808 53¢ HO éog 208 FOBO HUD?
(A) awdoeo (B) a»o&3o
(C) Sodsnb (D) o, Soahy @S
Qc..gf’/rt&af/.:d/r/dg_)f(fd’;bu
L (B | (g (A
st (D) E'y‘ljﬁ? (&)

62) The leading produc-er of coffee in the world 1s

(A) Cuba (B) Turkey (C) Brazil (D) Venezuela
LD @B HEmR 5D $88 v 330 HH?
(A) Brgen (B) &6, (C) Bad (D) 3ever

?q..(}:’su:.EJKU_L‘};.;./J:QUM&JJK
LD Jie © & o® W@

63) At which place wili you find maximum sunlight in December?

(A) Pune (B) Kanyakumari (C) Kolkata (D) Leh
GRowb & oHooe HREEZ08 G0t PoBo HB?
(A) Ipae (B) Smeiosmo (C) &5z (D) &»

S Gl E 8ty g oS B LA
Lo @ M ® Ly @
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64) Railway Passenger Coaches are manufactured at \ SET - B
(A) Perambur (B) Kochin (C) Chittaranjan (D) Kolkata
89, SRomb 5350 8 B SoHaiseean? | |
(A) B6omxs B) 508 (©) ostons (D) 88

L LU, et
S0 Fz © B ® xE W

65) Onion Research Centre in Andhra Pradesh located at

(A) Kurnool District (B) Anantapur District
(C) Chittur District (D) Kadapa District
BOFHDSS® SYDaDe HOFET Bogo D SotH?

(A) #tmen Bepe® (B) em0850 Hepd?
(C) DB Sons? | (D) s Bens®

?g‘:.gl:uté/}(/gy:;t!)gu:ﬁ){l/’jT
ST o mE © g ® T W

66) Which is the highest peak of South India?

(A) Mahabaleswar (B) Dodabetta
(C) Anamudi - (D) Mahendragini
54 gREBSH0S D85 BPT0 HO?

(A) 550855 (B) &usy

(C) o508 (D) soinog Bo

?Q-L}jfljf,(f;slﬁaw‘wdt’:ﬂdﬁ
dffuaf’ Dy irti (C Lxidas (B) f}éw (A)

67) What is the time difference (in hours) between (er" (Greenwich Mean Time) and
IST (Indian Standard Time)? :

GMT (8055 sl ssosin) Sooos IST (ap6s apsinds sooxn) 8 st O fote B
o7 )
vc__m,swﬂa:((’es,;;fu@:u)c:w,y»wmcwa:((w:é:u,:f)ﬁw

(A) 5% (B) 6 Q) 6% (D}, 5
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68) If ‘POPULAR’ can be coded as ‘QPQVMBS’, how would you code ‘FAMOUS’?
‘POPULAR’  ‘QPQVMBS’ e 656 35 ‘FAMOUS’ 8 & 8500w SoHsesy?
£ S FAMOUS S & 67 o /3 /QPQVMBSY "POPULAR" /i
(A)y GZOPVT (B), GBNPVT (C) GBPQWR (D) GCNQVT

69) If ‘ZEBRA’ can be written as ‘2652181, how can ‘COBRA’ be written?
‘ZEBRA’ © ‘2652181° » ood) ‘COBRA’ 9 & Do crobhsesy?
Vu’émﬁb)u/fCOBRA:’u"éaﬁ%ﬁlSl:( "ZEBRA" /

(A) 31822151 (B) 302181 (©), 3152181 (D) 3118215
70) Rupee : India :: Yen :? ‘
(A) Sri Lanka (B) Pakistan (C) Bangladesh (D) Japan
BRFOD : 4REBBI0 1 0D : 7 ‘
(A) ée)oé} (B) &8RS (C) wopds (D) B
¢

J Whang a5
Ut (D) Jak ©  wHl ® 05, (A

71) Find the oddman out from the following.
goald® @H02EENH WD BHGR0ED.

| s 2L G s SFF AUtd it
(A) 125 (B) 512 . (©), 729 (D) 248
72) Fill the series.
808 FBD HBaND HBENE’ DOHH.
-’c_‘:‘jJ[c:..J.bJJJiu;h’f‘/_.K
GH, JL, NQ, SW, YD, ?
(A), FL (B) EJ (C) FI (D) EL,
73) Fill the sertes.
808 FE3D DBV DEENS® DORYE.
S e
N5V, K7T, 2 , E14P, BI9N
(A) H10Q (B) HIOR (C) HQR/ (D) H11Q
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74) Fill the series.

808 FBO DoHBw.
A e
a b abaa bab abba
(A), babba (B) babab (C) ababb (D) aaabb

75) Fill the series with appropriate figure. «, _
D00 HEHDEF FEBO YROOWH. | S sl Sousir g

B
" (——l ) @ [

© F ) LJ

/
76) Pointing towards Sneha, Ajay said “I am the only son of her mother’s son”. How is
Sneha related to Ajay? |
(A) Mother (B) Aunt - (C) Niece (D) Cousin
S350 S5y e oo DSV B, “F Ba BY Gty WifetHS B ERNDED”.
Qe ©m05H8 D0HBCD ? |
(A) 59 (B) osg (C), orssieen (D) sas

?;_Jggu:;:,&g.uwﬂz?"um‘;tﬁmf;.éULJJW:"(‘_--I;,J’Q_J.L/UWJ)JW
vl o de © § ® oW
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77) Abhi walks 10 kilometres towards North, From there, he walks 6 kilometres towards
South. Then, he walks 3 kilometres towards East. How far and in which direction is
he with reference to his starting point?

(A) 7 kilometres : West - (B) 7 kilometres : East
(C). 5 kilometres : North - East (D) 5 kilometres : West

O SBSOI 10 8.0, & 55 5008 6 8.80. t5ge OIS HED, VL B0k 3 8.8, BIQVEHE
SEDHPOS, OB ANL DOVLOTOD FH0 0% & O H0B RGOS St ?

(A) 7880 Hssos | C (B) 7emieey

(C) 588 &550-8nc) (D) 5880 Do

ce e b dJ /i‘,/:{3/¢,l3’ufg;u:”/){6c-up/c:.ﬁ’ubJJ%/)‘{IO&1
?gﬂufcwﬂ/:ﬂcg./vJﬂb/uf,:_,(b»dlxwrutu’
S5/ 25T @B P RKT @)
oo xfs oy OFJEREsS ©

78) Find the missing term in the series.
808 are3s’ BaggE0 (7) o Yorind HEow:s DERGRH08S HROOHED.
?;j’:u? JLMLIJL.J.I:JUU,JU’UU/UQSJ

3, 15; 7, 63, 99, 143
(A) 35 (B) 27 (C) 56 (D) 45

79) Find the missing term in the series.
Boyaee3e® B850 (?) 5 Qo0 HowS DRRERDSOBS HROOTHIW.
viu;ud’.:.,vuuri.m_ i ﬁJuu,Jlru:x/urdJ

e s 146 o
o A @ 3

w12 ®) 195 (€ 185 ®) 20

89) The L.C.M. of 26, 56, 104, 182 is
26, 56, 104, 182 o 8.0.tH 008?

¥ 5 1.C.M.K26,56,104,182
(A) 556/}? (B) 1274 (C) 748 (D) 728
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| 81) In the following figure, there are three intersecting circles each representing certain

82)

83)

section of people. Which alphabet represents the painters who are neither Chinese
nor musicians?
808 DSOS BaTs> ByBRDED &5 PSS POGO gammga 8% gaesis a,ss&azmmg

BN, & ‘Bgto’ BHasne, HoBBSHen S DESLVI HRDDI0N ?
Uf..c.t“/tjuu Juur"uﬁlvﬁ‘h/lmu&.fd” :Q./n..flc./l:u:* U~ .J’le}Lu

TSPV Pre BT PR IR IILNY Y

Chinese )
Sdasven Painter
n i)gsadaen
= 4
Musicians
Do8smmen
. R '
A) f B) ¢ (C) b D) g

Two positions of a dice are shown below. Identify the number at the bottom when
the top 1s 377

85 DY Toky PoBHS SHRHDAEOL. DS P PersENS® ‘37 G0l ot griod B Do
0800807

?b"n./mifuf.»g?n/ﬁfs’sw,vd{nL,ig/ﬁuq“dfdnﬁ?bﬁ»tf)k
(B) 5/,. ©) 2 (D) 4

Count the number of squares in the following figure.
8ot Hixsins? DY SBOBTeed GrRoDT?

(A) 6

et L Led e nds

(A) 12 (B) 8 (C) 15 (D) 18

/
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84) Count the number of triangles in the following figure.
300 HirEnd Of Badapes daRan?

cpel L Izt Led it

(A) 15 (B) 13 ©) 11 @) 16
s

85) When seen through a mirror, a clock shows 8:30. The correct time is
5 E5GEBNS? TRRDD,E, 88 BEQNRS0 8:300° HEOIRY RSB, 50 HEOHO DOE?
' ?fﬂ(’eg?q,étzs:m(’ué:c,ud’,gﬂ’ﬁd)fv.f'
(A) 5:30 (B) 8:30 (C) 2:30 (D)/ 3:30 |

86) Find the missing number in the following.
806 Do HETLO (7) o PH0S® &Y VoY D7
LB il T LS Dy S L L

4

(A) 236 (B)ﬂ 255 (C) 190 (D) 221,

87) Find out the suitable diagram to represent the following elements.
- Males, Fathers, Doctors.

8005 0oyl 3B PO HRBVD> HOOTHID.
e, BoErED, PEe0. e & S5188 it oS 2 siE iy
L;/y’;; ey a2/

(© o « (D) @
O
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In a simultaneous throw of two dice, what is the probability of gétting a total of 77
Both DDER 6:5V0 HOB, B0tk DL i TG TBED 7 ©DEIS HogRHS 087

"r’l.ar;%lﬁim)llac;ulfa.uﬁufyu/:‘ ,;,w:duufumf

® 3 © < O

(A) 3 67

-

What is the value at ‘?’ _
geggém 50 e DD DRRRHOBS FPOOTHAL.
5400 X 7=3240

vl i T bl iy

5400 x 7 = 3240
3 3 N2 7
@ 73 B) 3 © 3 ® %

The sum of two numbers is 10 and the dlfference is 4. What is the product of those
two numbers?
Bodd Doz BniE 10 Bovoud S50 4 BOBEOE 8 Foth VO OPEN H0B?

¢ -gﬂl_{((:al;i”)w(o»{urﬁtucﬂ_%tl u/’ rul,ufc“_. lOJ}fKUr‘J-'{u

(A) 12 (B) 16 (C) 24 (D) 21

If 387-2.59 =7, What is the value at ?
HEFEO 50 P, HPOOTWED. '

-Lfﬂ&fzjdfsé_f,,cgfuﬁ,g!r?n 387x259=17 i
(A) 128 (B) 118 / ©€) 127 (D) 117

-1Y3

If (=5) (4) (2) (—51(1 ) = 7. What is the value at ?
NT)

Qraggéo e é)gaj‘aeg BDPROOLTDNWL,

S o1 £ rin EIWO(-3 )= 4

(A) 15 (B) -30 (C) 30 (D) -157
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94)

95)

96)

97)

www.eenadupratibha.net 2012

When is USA’s Independence day is celebrated? - SET - B
(A) 1July (B) 2y (C) 3uly (D) 4 July

905 DO T3P0 RB0E; HFES0 JHH BWYS0LRK?

(A) =281 (B) @82 (C) 83 (D) =34

/ ?.?,H?Ll'/..(‘/dﬂﬂrz‘_)f,;/iuﬁ’rl;l
Svza @ duz3 © duzz @ dvzd W

“Varanasi’ is located on the bank of which river?
(A) Ganges (B) Yamuna (C) Brahmaputra (D) Mahanadi
TBETR) B0 & B et GOk ?
(A) Booe (B) odsns C) a8 (D) o588
¢ QLC)U(..JWL&J:J“JL'IJJ:"
S @ ks (© v ®» ¢ o
What is the national flower of India?
(A) Jasmin (B) Lotus (C) Lilly (D) Rose
2REBBS) epSod o HO?
(A) 3 (B) 8soe0, C) o9 (D) toerad
S b/ JAGI WY

o Jo Ve Feow

In which city Head quarters of Asian Development Bank located?
(A) Kualalumpur (B) Singapore (C) Bangkok (D) Manila
wRaie oPHE eR,08 HEeS 52030000 DEE GOO?
(A) Sereompd (B) %otsird (C) anﬁos:og ) (D) &der
¢ E Ul P sar b e iU

¥ o JE © g6 ® A @
Who discovered bacteria?
(A) Edward Jenner (B) James Watson (C) Leeuwenhoek (D) Francis Crick
epSpaRid EXE%EO BT
(A) 85336 (B) 15559053%5 (C) O3S 88 (D) P ES

IOV 2
u"uu’f (B) skt (A)
LIS O Lrgd  ©
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98) Which instrument measures the speed of the vehicles?
(A) Odometer (B) Hygrometer  (C) Chronometer (D) Sonometer

Sooenb agHRe e 89S iS50 DS He3?
(A) &6%8otb (B) 376° Sowb (C) &b (D) S dowd
J Sy ST TGS S Sy 2y
Kir @ XhS© KK ® K@

99) India’s first Atomic Power station was established at

(A) Kalpakam ~ (B) Surat (C) Tarapur (D) Narora
BREBBF0 Book@nised eradd Boo dBl @3(50@0{535&0&)? |
(A) sggo  (B) wnss Q) oy | (D) st
e g.f’g(’t?uq(ﬁmgufmg;(uv-m
sk O b (© cr ® (¥ @
100) Indian Institute of Chemical Technology is located in which of the following?
(A) Hyderabad (B) Chennai (C) Mumbai (D) Kolkata
ROGOHS BV B BDES BHOE DB SO T
(A) 3popend . (B) 3505 (C) swo3 (D)' 53588
¢ e FEUWBIF LS ST 2 1 it d st
S o & © der ® AT @
101) ‘Cinnabar’, is an ore of
(A) Lead . (B) Mercury (C) Iron (D) Copper
‘Qidernd’” OIO BO G308, POBOT
(A) &0 (B) a0 (C) =adoso (D) b

D el JUr AR
LD YO o ® o A

102) Which is the lightest element of the following?

(A} Silicon (B) Nitrogen (C) Oxygen (D) Hydrogen
808 T636° BOB0 BoreeBH DOT
(A) 2925 (B) 3&fas | (C) w3ad (D) inGiad

| PR LYV §10%%,

P, @ FT© Faft B) vEE @A)
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103) The pH of human blood is around SET - B
BRDYD G0 B, pH v D057 ?‘aétg@g:lﬂtfp}hﬂuﬁdw ,
(A) 3 (B) 12 ©) 6 , (D) 7.5

104) The first metal used by man was
(A) iron (B) copper (C) aluminium (D) silver
BRSHE 50D Bootsed Sarsn HOT
(A) aosHn (B) o=d (C), wom@onano (D) o0&

?l.[dvz’lfalmgf(uul%;.__/
i @ A © 2t ® A

105) Sound energy is converted into electrical energy by a

(A) microphone  (B) earphone (C) loud speaker (D) sonometer
50 B & DetsHEN ;0 DB BR800 ?
(A) PogsHES (B) @00668 (C) &5 555/ (D) @5 Hosb

e FeUw b U Sud KA il
Kiv (D) A ©  wisi @) whElL (A
106) The ‘Power Steering’ of modern day cars is based on
(A) Newton’s law (B) Bernoullt’s law
(C) Pascal’s law (D) Kepler’s law
BtsRE0H SSF Trd H56 SO0k & DaHI0P EEEHE HI BAROD?
(A) SnddS doDsHn ) (B) 8320 Doz 1
- (C) xS dodsodn (D) 86 poHEEw
| e & K s Ly
F7 o SF © SA B HUE @
107) A device which converts electrical energy into mechanical energy is -
(A) generator (B) motor (C) dynamo (D) induction coil
DB OR0ZS B S30G HOLLO DT
(A) =006 (B) 3»&d (C) goan, (D) xo&ES seowd
et u LGS SE AL I LTS
VAT T B (© tr B L2 (A
108) Which day is celebrated as Science day? -
(A) February28  (B) September4 (C) July 18 (D) October 10
DS OSFETY D, VYT
(A) 28 250 (B) 423028 y (C) 18e8 (D) 1086
Tty U Lpy

2#110 (D) Juzis © 4 B SsF8 (A
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109) Among the following which planet takes maximum time for one revolution around

the sun? _
(A) Mars (B) Earth (C) Venus (D) Jupiter
800 3 B (5570 QKR TORIR BEI0 B DB HBOHO BRI
(A) ®omRSHE (B) g (©) @vd (D) owm
Yq..{?;‘f’u:&iiﬁi.ﬁz%d!)il Zwru‘L:U:(ufc)i
52 © i (© Fio® by @)
110) A person whose blood group is AB can donate blood to a person with blood group of
A) A (B) B (C) AB (D) All of these
AB mg) 5550 50 5,8 & 7%) 5,38 55 w0 BaHHE?
(A) A (B) B (C) AB (D) 289 i
P (el s s S S bo¥sd I AB s S¥ 3 L giind
(VWilosr (D) AT Q) B (B) A (A
111) Jaipur foot is made up of solid rubber and
(A) Iron (B) Wood (C) Plastic (D) Aluminium
‘Bop6 o0’ D BOXRLDH BobrEod Srdst ko e §0& TS BOD LT
(A) =dod» (B) 3%, - (C) ;s (D) wengodado

C 2Ll SUBRIL S AL L Pl kg Ly
Al @ Ly © 4 ® P @

112) The process of photosynthesis is most active in
(A) White light (B) Blue light (C) Red light (D) Green light
Beaa, HOCIRIBOD o 808 TRE3E? B0 HIgod® BB BHHBODT
(A) 8gamos,  (B) &9so0d (C) agosos (D) sbgs0d
Cednesb LK )L s

L}':J}:‘ (D) Ojudﬂ (C) (:éud:‘ (B) L?"’U}:a’ (A)

113) The adult human skelton consists of how many bones?

ERSHR SYDOBEHNSS Y DB $0ERODT ?‘;_Bmu; Ju:;J}Jzu:("GUl
(A) 206 (B) 208 (C) 210 (D) 212
114) Rubeola virus causes
(A) Chickenpox  (B) Syphilis ~ (C) Smallpox (D) Measles
‘dﬁag%’ DR BB O TE DOZAOD T '
(A) ©BSNg (B) 2390 (C) e Sarf (D) &oed
T gsﬁiJJ}lujﬂu

e o e o e St @
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115) Identify the main pollutant from the following.

83 B0BE3S H08)HD0N See0E), SBE0 HE? ‘-'A:‘—U'Uf»?:(”tf(;—’-"ftﬂ&}..!'@” .
(A) CO (B) CO, (C) N, (D) S
116) Sound is measured in ‘
(A) Pascal (B) Joull (C) Decibel (D) Watt
‘B0 0 O oHedRE® SPedetd? _
(A) 0,8 (B) &5 ) (C) @vend (D) ey
?%J@JJJ‘EJ}UT

2ls @) KT © Jz @ S @

117) Which vitamin deficiency causes “Rickets” disease?

& DHAS 6550 HO BT T2, VOO ? fe dnT Ve ety

(A) A (B) B ) ¢ y (D) D

118) Rajaji National park is located n

~ (A) Rajasthan (B) Uttarakhand
(C) Jammu and Kashmir (D) Madhya Pradesh
rend FDHS ok, & m@oeﬁ‘s 4087
(A)/ 0P8RS | (B) &80e08
(C) e, svooxn 5e8,5 (D) o503 . "
B £ > ?:‘_dl,uu’J;gf“' Gt

Fogeos D) £ 0lUA (© M0 ® w3 3
119) The concentration of carbon dioxide in atmosphere is

aa@aa’adsao@ssagﬁ@@gﬁaoééo@o&? e;ﬁrﬂﬁuﬂ_ﬁmélicﬁﬁuﬁrm/
(A)y 0.03% (B)/ 0.08% (C) 0.09% (D) 0.12%

120) Who founded the Magadha Empire?
(A) Aniruddha (B) Nagadasaka  (C) Udayabhadra (D) Bimbisara

B Dgions, APDEIE IHHT
(A) oDt (B) woessass Q) és(ﬁoi*»a;f)tﬁ (D) Dozt

?‘::_u,'(dtb/w»j
L™ (D) Latlst (©) KLLfE B) engl (A
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121) Which of the following has proposed the gravitational force of earth much before
Newton?
(A) Ramagupta  (B) Aryabhatta (C) Brahmagupta (D) Varahamihira
53 B00)THOS DB ERLOD ?omgome'oé 52003 GERa08 SEE 5 GG GO HOJDOTDT
(A) oes0rHD (B) eday (C) wnEpt8 (D) ®oesnning
?gﬂwfuty@;d’cﬁ)LJ(%c.Jﬁuﬁdjbu
s © Was © a0 ® Huo @

- 122) Who built Puri Jagannath Temple?

(A) Aditya (B) Anantavarman (C) Chandradeva (D) Parantaka

P atsaRe Saroang dHE YT ? '

(A) woE | (B) esossss  (C) Sogds (D) dooss
PP LS K B

Kbty (D) sz (O gluhE (B) S0 (A)

123) Who was the Guru of Shivaji?

(A) Tukaram (B) Gurunanak
(C) Samarth Ramdas (D) Shaji Bhonsle
e () DS ?
(A) @m0 (B) ththHmesh
(C) o ooome _ (D) apeiaiod) I
EAgl ©  uhds © SS m s @
124) The battle of Bobbili happend in the year '
£ Ao B H05EI0S 5oBoD? ednlinS Ll
(A) 1757 (B) 1767 (C) 1780 (D) 179
125) Which Sikh guru was hanged by Aurangzeb? ' |
(A) Guru Nanak (B) Guru Tegh Bahadur
(C) GuruArun . (D) Guru Ramdas
Borsdes S8 GOBADOAS VEuY HED) IHDH?
(A) SHarRsE (B) 5088 a5neind
(©) > DS (D) ot ooEoreh
‘-'fd;u/bgd'_.%}gfnlf:)’apd'-f
vornd ® gt © oGS ® S @

126) When was Quit India Movement started?
8¢5 0B 665300 & VODBES® FPLOPOWEON 7 ?6ﬁ65;JJf;J5ﬁuUf:p

(A) 1944 (B) 1943 (C) 1941 (D) 1942
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127) Which river is known as “Dakshina Ganga”? SET - B
(A) Krishna (B) Godavari (C) Tungabhadra (D) Penna
t5&e0 15085 BD DSOS DEKH?
(A) 83 (B) 6&5weso (C) ®otsens D) aw

. S tipbb Sl et £ Y
o e © ol ® ¥S !

128) When was “Andhra” state formed?

(A) November 1, 1956 (B) October 1, 1952

(C) November I, 1953 (D) October I, 1953

BOE TH0 DD SlslelelA N

(A) ssob 1, 1956 / (B) w&8wb 1, 1952

(C) &soab 1, 1953 (D) e85 1, 1953

?QTU:Jer_(}'K “ e T el
195201 (B 1956294 (&)
195314 (D) 053,29 (©
129) Which 1s the most drought prone state of India?

(A) Odisha (B) West Bengal (C) Rajasthan (D) Bthar

ZREBLFOS ©8H50mR BHHB tHad; oxgo SO

(A) edap (B) %35 Somd / (C) oemapd (D) &b

e gufernit e drBolic o fubim
A @ W (© JEGF B =it @)

130) Which agriéulture scientist is responsible for ‘Green Revolution’?

(A) Kurian (B) S.S.Bhatnagar
(C) Shanti Swaroop (D) Norman Borlaug
RO Sasm)aja&)é SPTEREA0D H;HR00 FIYE DHDT
(A) BoaHod (B) S.S.¢5emts6 -
(C) @e0d HHERD \ (D) 8,5 SPaxpb
crufuFL S sidati SO Wit
Sl Al B UOTANNCY
Sl (D) Ly ©
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131) Reserve Bank of India was nationalised in the year SET - B

ERUS DL, 2R,05 JR edabo Bodadod?
% Wy L)VJ/J(LMJT..@UZJ
(A) 1947 B) 1949 ~  (C) 1950 (D) 1969

132) The slogan “Garibi Hatao” was included in
(A) Fifth plan (B) - Second plan  (C) First plan (D) Fourthplan
155¢) EreRd? O D0 IS HeBES® rotDEBRER ?
(A) 55 (B) Bo&s (C) Booeses (D) wogys
| YIS o WGV Y s
PG5 D) 2l (© Pl B) PUILL (A

133) As per 2011 census, which state has lowest population density?

(A) Assam (B) Sikkim
(C) Meghalaya (D) Arunachal Pradesh
2011 2aregp 850 H5U0 98 B aSPOLS EOS oo 5607
(A) oo (B) 280
(C) Sopmoad (D)  ethmsSHos
W:’be(fc_u/u'd:ﬂ JJLJ(/JW;C(}A‘(}/ZOI]
Fogfs @) JE O Fo® TR
134) As per 2011 census, which state has highest Female sex ratio?
(A) Tamilnadu 3 (B) Kerala
(C) Andhra Pradesh (D) Kamataka
2011 ameen 850 O S50 & ;) DD DD OBHZ0R 6 020 07
(A) Bodoet , (B) 8o
(C) sogads (D) Someos
Tl Kol 17 6 é:)/u’u/h/dlbfﬁ 20116;&-(:/
S o) ‘/’,u;r/v,u © i/ (B) Wt (A)
135) As per 2011 census, which state has least literacy rate?
(A) Arunachal Pradesh (B) Odisha
(C) Bihar (D) Rajasthan
2011 aaper 850 05000 @8 B, Q50N (0 0250 07
(A) ethmss HS (B) =&ap
(C) 586 (D) ceaRs
?g.ﬁ/‘; ,/c/"'JJ,u?u:wpg’J. b 20118402
YL (D) Mo(© TR Y IV A TV O
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136) The Headquarter of RBI is in ' ‘ . SET o B
(A) Mumbai (B) Delhi (C) Kolkataw - (D) Chennal
gR5s Dab; er0 Bog Se00,0000 DS $oB?

(A) o (B) &2, (C) sss (D) 3

('L.di;ubrrbd./#ﬂ)»h_)!.ﬂuxj
dew @ O © do® F W

137) Bokaro Steel Plant was established with the assistance of

(A) USA - (B) England
(C) Germany (D) Soviet Union
ePS6 65, BB, P SO DE0HSNES VD,0w0E0R ?
(A) ®HO Do Toapen (B) =ompo&
(C) =50 (D) 590065 oHhrdaDHS
| %flf(ba.u,w_’.u/..,ufmv
o Jecsr (D) Sz © 181 @) CIRY (A
138) The Head quarters of World Trade Organisation 1s in
(A) Geneva (B) Seatle (C) The Hague (D) Montreal
©D05 e, K08 (WTO) aiw, ot 52000500 8 608?
(A) @8 (B) bomes (C) 6 (D) smofohs

“g.(‘j l:ub‘f(w;,ef(ﬁf%?,g)ﬂn
Jr o L O Fr® uE W
139) Which among the following is the Oldest Public Sector Bank of India?

(A) Central Bank of India (B) Punjab National Bank

(C) Allahabad Bank (D) Imperial Bank of India
808 236 HOPBHII0ND GREBAH HEbE; B0t o 7

(A) dopd anos 85 RO&OTR | (B) Soumed 356 e 08

(C) oostend eno8 (D) 2050050 e 08 8b todafe

| PR NS PRI SN T
LiST Bd 4 D) LTI (© -C,:ﬁu{s:- @®) LEIST G > (A)

140) Who is the present Deputy Chairman of Planning Commission?

(A) C Rangarajan (B) Montek Singh Ahluwalia
(C) B.K.Chaturvedi (D) Saumitra Chaudhari
D08 DrIoBE HOFVO 308, B BUS D557

(A) C.dotoead (B) &0e38 108 wsnpsedate
(C) B.K.s5#0,0 (D) Rp208 Soso

' °U'U;JJHCU-..JIJ/'*UMHK
d/’”;'/"r D) ‘-5'-"-’2"2:"0. © .._JIAIJ:JK (B) L‘J'"/g-/-{f (A)
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141) “Veera Telangana : Na Anubhavalu - Gmpakaln” is written by S ET - B
(A) Suravaram Pratapa Reddy {B) ¥Xoloj Narayana Rao
{C) Ravi Natayana Reddy (D) K.VNarayana Rao
“DHrBoomes : T D) - PIFe)” S0 BB500E DD T
{A) Doosto HEHG {B) =% apoeaDenoey)
{C) oD apoecdedy (D) K.V.arorobonow)
S pudlnd L “JEp It 2T
s ASH @) Ghogkypnir  (A)
5?!;5;{.;1;_,453_2. D) BrE1489,  £O)
142) Who established “Azam Jahi Mili” m Warangal?
(A) Mir Mahaboob Khan (B) Mir Osman Ali Khan
(C) Salarjung (D) Sikander Jah
SoUSS et e DSh FRDODRD? '
(A) Zob s Ipo (B) &b 6n,d 9damd
(C)  pepbmob | (D) 28otd e»
T TV P
e 2 (B) oot g A
s!gu'»c @) hfz.fﬂk {C)
143) Which of the following is related to Konern Ranga Rao Committee?
{A) Water (B) Industries {C) Education {D) Land
Bo® ei36¥ 553th oo Ba0E BHB VoROHODON?
(A) &% - (B) doger  (C) & (D) 2z
?f,;.."“. * 518 J,j[”fﬂf(‘ﬂd‘)bu
& @ g @
i D) £ ©

144) When was the “Police Action” took place in Hyderabad in the year 19487
(A) 13 September (B) 27 September (C) 2 November (D) 7December
1948 & Zrreend & O 55, 808 BO?

() RReebis (B) 2302627, (C) &Sowb2 (D) &oab7
?lﬁ/f;:tu/u%luggpﬁJﬁ;gbﬁl%S
A D 22 © AU ® A3 (A
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145) In which year Sri Bagh pact took place? |
& 2B 2050 & DoBELOS® 20fod?

SET - B

| | YLT,J:'J’,:JJJVJKN}-V‘CQJ/
(A) 1937 i - (B) 1941 (C) 1929 (D) 1931
' 146) Who was the first Chief Minister of the state of “Andbra Pradesh™?
(A) Damodaram Sanjeevaiah (B) Neelam Sanjeeva Reddy
(C) Kasu Brahmananda Reddy (D) P.V.Narasimha Rao
BOGHES oG BB H0PFIOY DBEDT?
(A) ©RENRSE0 HoLBHoN, (B) doo Hods 38 /
(C) sodo waBSoLs 8 (D) .8.855R08780)

?é‘;uf}—ﬂ,&_g%;qﬁﬁ:{l/vﬁf@p

S i ®
I -s-d (D)

LZpnrts (A
Staasrd  (©)

147) Who was the first Chairman of Legislative Council of Andhra Pradesh?

(A) Gottipati Brahmaiah (B) Kalluri Subba Rao

(C) Ayyadevara Kaleswara Rao (D) Madapati Hanumanta Rao
BOLHBS 035 DEIS0LD Bntse TS DS ? |
(A) 6°FaRe pipoh /- (B) -Bope doaroes)

(C) o0ah iS58 58 B0 (D) smtsaned pdsosoey)

St gd e o LS SIS G p il

S-S (B)
iu.—;ﬂ"d W (D)

148) Which was the base for Portuguese m Andhra?

{:"/.J&J:" (A)
fl})ﬁ"(f;fgj‘lzl | (&)

(A) Bheemun: Patham (B) Narasapur
(C) Machilipatnam | (D) Narsipatnam
sogee® DEHA® S50 DT
(A)  Hs00080 (B) ssamyso ,
(C) ai:aééé&o (D) m@)ago
?érg{jfuﬂ/ﬁ,u"d@,;
- ks (B) Al @)
(+67 @) AE ©
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149) Which of the following projects is known as ‘Indira Sagar’ Project?
(A) Polavaram (B) Yellampalli (C) Ichampalli (D) Pulichintala
20800 056 $EE 60 O PEES HH?
(A) osso (B) ogood / (C) =0y (D) HoOwose

SebbbbetL w1 Sl el S it
gy @ dFT © dt® il @

150) From which of the following railway stations maximum number of trains pass

through? - |

(A) Secunderabad (B) Kazipet (C) Vijayawada (D) Guntakal
8ot S 5980 BOtHome DS Do’ Je) DOm0 ?

(A) dBosoeents / (B) =t (C) dzoHaed (D) ®osss

?q.?(jz?}()_égﬁ;fﬂuycz.wr_ﬁlufufu,»"'-".t“f‘)_jb,,
S D) w2 (© el B) ATE (A

151) One Horse Power(HP) equals to how many watts?

28 5588 356 (HP) oiee o oty ?
tebrsr & eh E EP sy AL

(A) 764 4. (B) 674 (C) 647 (D) 746

152) Who among the following was first one to receive Bharata Ratna Award?

(A) Jawaharlal Nehiu (B) C.Raja Gopala Chari
(C) Babu Rajendra Prasad (D) Lal Bahadur Sastry
BYTOEE PBBES Oty B0d DSH?
(A) 25505 Ik (B) C.ocea:b%pweared
(C) erar cEogHFRs (D) end winitinb w2y
.?l;(g)’i(a::"..u/”}jigflu.‘.;o/b{ ”ég c:..ﬂ._-/gj.fd,?&u
ity B 2z (A)
ol (D) sbegriiudy (O
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153) The Head quarters of North - Eastern Railway zone is located at S ET - B

(A) Gorakhpur (B) Guwahati (C) Kolkata (D)  Shillong
B30, B, 0050 HS STROOH0 DG G087
(A) 65585oRE (B) & (C) s%smo (D)  2epob

‘7%5'3utfrwzﬂbfwu.~..:£ﬁ/"-_dii
L @ 5 © & @ ES @

154) The Head Quarters of “National Remote Sensing Centre” (NRSC) is located at

(A) Bengaluru | (B) Tiruvanantapur
(C) Delln (D) Hyderabad
“ oS oBReS QOB HotE” (NRSC) Hr6 5003,00500 55 60807
(A) BorEr (B) addsospso
©) &8 (D) 3ngpens
S G laulf 6 s 4o KNRSC) “ A L s
pogeass (B S @)
siioe ) & ©

155) What 1s the Capital of "Manipur’?

(A) Agartala (B) Imphal (C) Kohima (D) Shillong -
‘S0e35RS’ oogy CoERR) o607 '
(A) esge (B) =zoapsS (C) 8&%2nao (D) 2erob

?.:‘:_lefr(i'uﬂg“,r;f”
£ o Wl © Jpeo® S

156) Who authored the book “Gabbilam’

{(A) CR Reddy (B) C. Narayana Reddy
(C) Gurram Jashuva (D) Arudra
500" 8 HForR]) RoNoBSE?
(A) R.eb.3& (B) . aroeoHes O
(C) thego epzpae (D) estis
c e £ O
Sisfity (B LT @A)
A (D) wrlrsd (©

-~
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157) Which committee has recommended Value Added Tax (VAT) first time?

(A) L.K.Jha Committee (B) Raja Chellia Committee
(C) Narasimham Committee (D) Dutt Committee
DS BEROB B3 (TL5) HLBO SDOR LI BB 85K HO?
(A) LK. g 80065 (B) orem Beo, 58063
(C) ©vRosR0 BD0es . (D) &8 55083
?ngLG(uf%a_qf(Jgéiﬁt:)VAT
CF ke ® L Fwld @

_ J“‘r&) (D) &f((/ (8

158) Who built Charminar?

(A) Salarjung (B) Sikandar Jah
(C) Abdul Hasan Shah (D) Quli Qutb Shah
‘,aRE’ D DB DY, T
(A) &erbzob (B) 2806 ex
(C) o s ap (D) ®odgosed ap
?&l://gi-uf)t:’:l,l;’
b E (B) Lt (A
b ) Ll ©

159) Which is the largest district of Andhra Pradesh in area?
(A) Khammam (B) East Godavari (C) Anantapur (D) Guntur

BOFHBS ;o B0 Hif Bep DOT
(A) =20 (B) sy &meso  (C) edospso (D) SotantH

?%U/&al}:quﬁlij;(ﬁ:{l/ﬂijgz
D) e © $af3S ®) W

160) Bahujan Samaj Party (BSP) was founded by

(A) Mayavati - (B) Kanshi Ram (C) Ambedkar (D) Jagjivan Ram
‘0 SRS O’ PHOVOBHE?
(A) SRORSS (B) =dpeo (C) wodsh (D) &tsgsdoso

S B L (AR Gk P
r’»'uf-; @ S (© (Uff.( (B) G,j,t (A)
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161y A total of 550 coins of 25 paise and 50 paise make a sum of Rs. 225. The number of
50 paise cotns 1s :
§3g125 Pioer weiden, 537 50 Do TR Huod 225 EaRolen SO0 BNE0 T Hog; 550
@aud, 50 e TBes OF Geon?
W EwEZ L5 1A SUF HIEL &0 EL 25

(A) 200 (B) 250 (C) 350 (D) 450

/

162) \fztr-\/zn «/19—«F =7
\/41—\[21=‘+ |

19— /9 = Deos D08,

et 4121195 =2

(A) 5 (B) 6 €) 3 (D) 4

y

163) The average score of a cricketer for 8 matches 1s 42.25 runs. If the average for the
tast five matches is 52 runs, then find the average for the first three matches.

&% 8365 st 8 @b DIk 42.25 HHHen, VO 5 8 Bk 52 HEHNDHE 9B B0t
S0T3EY 9@ FOTIEI JOET

VI T S 52 SR SS AT Sl 504225 L 1§ 8 L S S

?a//r:]"’lr:l-(

(A) 2625 (B) 24.75 (C) 2525 (D) 26

/
164) The difference between a number and its three-eighth is 110 what is that number?

3
8 K08, Hooo: 3 50 B8, BE HOP BesEin 110 @owd & Hog), DO
7 ey - 3 -t -~
Kk i w1102 Py E 100 6Ll

(A) 164 B) 176 (C) 184 (D) 188
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165) A person’s present age is three times the age of his son. After 15 years, he will be
two times the age of his son. How old is the person at present?

25 85,8 0305, HR0H SR, OBD BERDHE SODRE St BkY. 15 HOBHmE BHTE €5

SN, BIFPDHE oL 3eoy B 8 B B, TS HADKY D0B?
vﬁ)’JJ”mﬂz?ﬁwuﬁJr/Jg;.;Juwdvug-q_LfJK/J‘;/J@f.g
Snys

(A) 36 (B) 48 © 45, D) 54

166) 45% of 750 - 20% of 650 =7
45% 305, 750 - 20% c3ws, 650 =7
¢ = 20%K650 - 45% K750

(A) 204.75 (B) 205.25 ) (C) 20650 (D) 207.50

167) A person after spending 60% of his monthly income is able to save Rs. 3360. His
monthly income (in Rs.) is :

28 B3 65 IO wmRoHod® 60% L ¥ 3360 KRR HBYHLONS BB IO

SA0 OB T (dﬁ@aojnéj)
-(WUz;sx)-tfﬁ(.)A"-&&'vJu‘f?c;_lf/\:{-.'f?,u?.%(]{i./@%()% (T o
(A) 8400 ) (B) 8600 (C) 8800 (D) 9000

168) A man buys a mobile phone for Rs. 2400 and sells it at a loss of 20%. What 1s the
selling price of the mobile phone?

28 58 88 BBS DS 2400 ERP0HOH 530 20% $IPS 98,5008, H0FSE VS BDH

00 DB ?

Jfgrwiu?_g;,lz;/:);/'ibiuuﬁZO%u%u}utz;_uzAm u}JfLrLf?.{l
(‘Jﬁlfcﬂ)/&gb‘/

(A) Rs. 2140 (B) Rs. 2060 (C) Rs. 1980 (D) Rs. 1920

/
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169) The ratio of two numbers is 3:5. The difference of the numbers is 12. The sum of
the numbers is :

8ot Doy DB 3 : 5 BOW T3 ol BSHD 12 W08 & Botd DO BVBO HOBT

www.eenadupratibha.net

Cn s g 12 O /W35 B x1s

(A) 48 (B) 36 . (C) 60 (D) 72
170) If Rs. 10,500 were divided among A, B, C so that A B=2:3andB" C=4:5 Then
B gets :
10,500 8rapcboR A, B,Cevn A: B=2:3&0amB:C=4:5 DBS® Do, B
VOB e 0EITE 7
FIBIIB:C=4:51A:B=2: 3 B LLYE wb L A B, CUE £ 2,10500./]
newy
v~ 1. 2400 (B) Rs.3600  (C) Rs. 4800 (D) Rs. 4200

171) A, B and C enter into a partnership and their shares are in the ratio 3 : 4 : 5. After 6
months, A withdraws his capital. If at the end of the year the total profit is
Rs. 21,000. What is C’s share in this profit?

A, B %0000 C o0 3: 4 : 5 3586 innthen He3 &8 S@sanid PEoLodw. 85 3o
Sdoaees ‘A’ 85 a)é.l)eaaoc?sf{) SHE, B008°3 0. RODBTROBHND HOPH eegfdn 21,000
Braroneond, ‘C’ o ergsiin Do ?

gszidb/(!-g.W.Lﬁl:.:L/l:;lAﬁam -9.3:4:Sql:'v'l.(,.d?qu_/;l,u?f/"-"c-u'z\ﬁ
EnT o ¥C UL U1F 51 £ 21000 OL X

(A) Rs.8000 (B) Rs.9000 (C) Rs.10000 (D) Rs.12000

. 3 )
172) A man completes 3 of a job in 15 days. At this rate, how many more days will it

take him to finish the job?

3
S HB — 523 508 HID 15 6863 Hre) B33) WBDD HID DPg BoHTOS @gﬁﬁam HEB0O 7
= e . - 3 ;
-f.m(n&f,g;-ui’.J.../J"(f,f((/ril:.:f.f_bfd‘(ufu;ls -~ g B’(K.._f!tffuf'

(A) 15 (B) 25 (©) 30 D) 36
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173) 24 men can complete a piece of work in 12 days. In how many days will 18 men
complete the same work?
24 5000 Ben 28 HID 12 53¢ Hre SN, ¥ BV 18 HI0B SHHen HY e’ Hp
DRD? |

?Z.u;/‘);u.’:wé‘f/ﬂm;/ls5&?-%*2_6(9;12u.‘:é._/g}""f(b’.{u/u-
(A) 16 | (B) 18 ©) 20 (D) 24

174) A, B and C can complete a piece of work in 8, 16 and 24 days respectively. Working
together, they will complete the same work in how many days?

A, B 50000 C &0 25 500 0DEM 8, 16 500050 24 62268 §p8) B0, 395 StLH KOV
O3 HOD O %e8f Gpe) SRRt ?

S Ly IS R E S K51 S 0E o TS B2 16150 3 ¥ LICHAB

8 2 : 4 4
(A) ZH (B) 3ﬁ (C) 4ﬁ | (D) 5ﬁ

175) Pipes A and B can fill a tank in 2 and 3 hours respectively. Pipe C can empty it in 6
hours. If all the three pipes are opened together, then the tank will be filled in how

many hours?
A $0010 B 2o 28 er0Hd EDEM 2 SHvak 3 tSotadd Doymeon. C P & &R0 6
t5008E grd TRQ08. BEPO AR HOYVRD BEDDHROVE eR0H R 5ohed? DotHE0H?

U’?ﬂ-%r/dﬁu’:gﬁcpw ?f’g.é-ufl./‘.‘ufgbsl?. 413-.,.,-_7}:(...@ quBquu*/’.g
e FARE L ZIL LA, A

1 3 F o 1
A) 27 ®) 17 © 13 D) 17

176) A train 300 m long, running with a speed of 72 KMPH will pass a telephone pole in
how many seconds?
300 oty antshig &8 Teo 72 880 /508 B5088 28 GOVES 027 DY DBEOLES treB00?

?c"..(}'c//»:‘u:ﬁ?ZJ(J.;’U}J{\.{I;ﬂ}‘f&/”:;?ZJD/JJU:M‘,}fWQJJu'zJ"J..._fl

(A) 15 (B) 18 (€) 20 (D) 24
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77) A sum of Rs. 4500 gives a simple interest of Rs. 1260 in 3 years and 6 months. The
rate of interest per annum is :

4500 RRADO 61080 3 HOSERE 6 B0 50088 D0t SETLHBI(HOBEROB) 1260 R0
2Rt HED A0LHB0R ?

e norl ol 1260 sy b6l B b2 ar S K5 14500

(A) 6% (B) 7% ©) 8% (D) 10%

178) The sides of a rectangular field are in the ratio of 2 : 3. If the area of the field is
600 m?. What is the perimeter of the field?

&8 OF SEUQsS Yot s, Jes), Sdeyw 2: 3 DHBS YD, © Josw 563@15@
600 45,80, s @ PO A, TSRS K087

%”xt/,bwwu;/dfﬁoo;Jb’mau*._.»bz 3 LI L iU

(A) 50m (B) 60m () 80m (D) 100m

179) The perimeter of a right-angled triangle is 30 cm. Its hypotenuse is 13 cm. The area
- of the triangle is (in cm?), '

28 ©008%0 Brbasn It wHtRsPes 30 Jo.dy. Hvoky SPEw d3g) M 13 Ho.&v.
B0 & 308 T20,0 D08 (5.8006%).

ALREL )M 3, b 1T 13796 e 2 (7 05K els f

(A) 20 (B) 30 () 130 (D) 195

180) If October 8, -20 11 was Saturday, what day of the week willlbe on October 8, 20147
(A) Tuesday (B) Wednesday  (C) Thursday (D) Friday
9885 8, 2011 FDTG0 BOS, ©¥E3E 8, 2014 & 65 BFHH0O?

(A) sosgmto  (B) angmeco (C) o (D) 50
PEn b Yo (2014 18 5105 A3 8 550 2011 i8Sl

L D) =1 (© £z (B) VN
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For the questions 181 - 183, choose the closest meaning of the given words.
181) Abandon | |
(A) Neglect (B) Condense (C) Discontinue (D) Return

182) Predict
(A) Foretell ~  (B) Explain (C) Observe (D) Assert

183) Eradicate
(A) Determine (B) Describe (C) Complicate (D) Eliminate

For the questions 184 - 186, choose the opposite word for the given words.
184) Crowded |
(A) Mob (B) Expand (C) Lonely (D) Group

185) Condemn
(A) Contrast (B) Praise (C) Deliver (D) Divide

186) Genuine
(A) Straight  (B) Steady (C) Effective (D) False

For questions 187 - 189, choose the correctly spelt word among the options.

187) (A) *COMMENSURATE (B) COMENSURATE
(C) COMMENSUARIEAT (D) COMMENSRUTE
188) (A) REPARCUSION (B) REPERCUSION
(C) REPERCUSSION (D) REPERCASSION
189) (A) ENCAMBRUNCE (B) ENCUMBRANCE
(C) ENCUMBRENCE (D) ENCAMBRANCE
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Fin‘ questions 190 - 192, Select the word which closely fits each sentence.
190) A general pardon granted by the government to political offenders
(A) Amnesty (B) Diplomacy (C) Alimony (D) Armistice

| 191) A man with abnormal habits
(A) Arrogant  (B) Supercilious (C) Sceptic (D) Ecentric

192) The state of being married
(A) Monogamy  (B) Matrimony  (C) Alimony (D) Celibacy

For questions 193 - 195, choose the most effective word to fill in the blank to make
the sentence meaningfully complete.

193) He was and ready to conform to the pattern set by his friends.
(A) complacent (B) autocratic (C) compliant (D) intractable
194) He should be dismissed for his remarks about his immediate superiors.
| (A) scurrilous (B) critical (C) depreciatory (D) negative
195) She failed in the examination because none of her answers was to the
questions asked. |
(A) revealing (B) referential (C) ambiguous (D) pertinent

For questions 196 - 197, choose the correct preposition to fill in the blank space.
+196) Sincere people always abide their friends in all circumstances.

(A) against (B) up (C) with (D) i_n/
his ignoraﬁce.

(C) with (D) at

197) She was greatly amused _____
(A) on (B) from



www.eenadupratibha.net 2012
SET - B

For questions 198 - 200, read the following passage carefully and answer the questions
given below it.

Unhappiness and discontent spring not only from poverty. Man is a strange creature,
fundamentally different from other animals. He has for horizons, invincible hopes,
creative energies, spiritual powers. If they are left undeveloped and unsatisfied, he may
have all the comforts which wealth can give, but will still feel that life is not worth
while. The great humanist writers, Shaw and Wells, Amold Bennett and Galsworthy,
who are regarded as the prophets of the dawn, expose the foibles, inconsistencies and
weaknesses of modern life, but they ignore the deeper currents and sometimes mis
represent them. At any rate, they give nothing in their place. In the void left by the
removal of tradition, morality and religion, others are putting in vaguage sentiments of
rdce and power.
198) Unhappiness and discontent spring from

(A)»Poverty alone |

(B) Ignorance -

(C) Poverty and moral and spiritual degradation

(D) None of these

199) According to the author in what respect is man different from other animals?
(A) In power of speech
(B) ) In hopes, creative energies and spiritual powers
(C) Inmoney and material

(D) In physical powers

200) The author implies that the humanist writers have ignored
(A) /~ The spiritual side of life
(B) Cultural progress
(C) Material welfare
(D) Religion
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Q.No.| A B C D E F
181 A C C C B C
182 D A D B C B
183 B D B A B D
184 A C C D D A
185 D B A C D A
186 C D D A B B
187 B A B C A D
188 C C C B C C
189 A B D A B A
190 D A A D C C
191 D D C C A D
192 B B A A D B
193 C C B D A A
194 A A D B B D
195 C D D C C B
196 B C A D D C
197 A D B B B A
198 D D C A C D
199 C B C C A C
200 A A B B D B

Suggestions or remarks, if any, on the answer key
may be sent to E-mail id ‘slprbap@yahoo.co.in’ by
29-08-2012
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